Nurturing Nature English

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)
Administration Department
Koyla Bhawan, Koyla Nagar
Dhanbad – 826 005

Ref: BCCL/Admn/Sr. EE(C)/2010/18 Date: 28.01.2011

QUOTATION NOTICE

Sealed quotation are invited on percentage above / below basis from eligible candidates for the works mentioned below & the same will be received on 07.02.2011 up to 3.30 PM and opened at 4.00 PM on the same day in the office of the undersigned.

Sl.	Name of the work	Estimated	Earnest	Paper Cost	Time of
No.		Cost	Money		Completion
	Repairing and maintenance of				
	toilet of Commercial Block &	Rs 52,992.55	Rs 530/-	Rs 100/-	01 Month
	General Toilet of Level-I at				
	Koyla Bhawan.				

Eligibility Criteria:

- 1. The intending tenderer must have its name, experience of having successfully completed similar works i.e.:
 - a. Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.
 - b. Two similar completed works costing not less than the amount equal to 50% of the estimated cost.

 Or
 - c. One similar completed work costing not less than the amount equal to 80% of the estimated cost.
- Average annual financial turn over of Civil works during last three years ending 31st March of the previous financial year.
- 3. N.B. Similar work means repairing & maintenance of building Civil work involving Sanitary works. B.O.Q. will be issued after paying the cost of paper to Sr. Manager (F) Pay, Koyla Bhawan. Issuance of BOQ does not means that the party is qualified.
- 4. Quotation are to be submitted in single sealed cover containing 1) Earnest Money, 2) Credential relating to eligibility criteria, 3) PAN & TIN documents alongwith current Sales Tax Clearance Certificate.

(Contd										,
(Comu	• • •	•••	••	• •	••	••	•	٠.	•	,

- 5. No materials will be supplied by the Department
- 6. The rates quoted by the agency will be valid for 120 days from the date of opening of quotations.
- 7. The earnest money shall be deposited either in form of cash or Bank draft. Quotation without earnest money will be rejected.
- 8. Every tenderer is required to give an affidavit in the proforma given in the tender document on non-judicial stamp paper and as well as current Sales Tax clearance certificate.
- 9. The details can be visited on our website http://bccl.cmpdil.co.in

(D.K. Singh) <u>Manager (Civil) Admn</u>

Distribution: -

- 1. All area CGM/s / GM/s for display in notice board.
- 2. GM (system), BCCL, for logging in our website.
- 3. Dy. GM (Admn), Sr. Manager (P) Admn Koyla Bhawan.
- 4. Sr. Manager (F) Pay I/c, Koyla Bhawan
- 5. Sr. Manager Sectt to D(P) / D(F), D(T)P&P, D(T)OP, CVO
- 6. Notice Board.

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)
ADMINISTRATION DEPARTMENT
KOYLA BHAWAN, DHANBAD

PART - I

(TO BE SUBMITTED IN SEPARATE ENVELOPE)

1.	Name of work	:		aintenance of toilet of Commercial l Toilet of Level-I at Koyla Bhawan.
2.	Name of Tenderer	:		
	Address	:		
	Contact No. (Tel / Mob.)	:		
3.	N.I.T. Reference	:	BCCL/Admn/St	r. EE(C)/2010-11/18 dt 28.01.2011
4.	Date of Receipt of tender	:	07.02.2011 fro	om 10 AM to 3.30 P.M.
5.	Date of opening of Tender	:	07.02.2011 At	4.00 P.M.
6.	Details of E.M.D.	:	No.	Date
7.	Money Receipt No. (for issue of tender Paper)	:	No	Date
8.	Documents issued to Tenderers	:	Quotation Not	tice (02 pages with BOQ)

SIGNATURE OF ISSUING OFFICER

B.O.Q for the work of "Repairing and maintenance of toilet of Commercial Block & General Toilet of Level-I at Koyla Bhawan".

Sl	Particular	Quantity	Rate	Amount
1	Providing & fixing WC Pan 580x440 mm with	01 no	2304.65	2304.65
	integral type foot rest complete as per			
	specification			
2	Providing & fixing wash basin 630x450 mm with	02 nos.	1201.70	2403.40
	CI brackets, 15 mm cp brass pillar tap, 32 mm cp			
	brass waste complete (single pillar tap)			
3	Providing & fixing waste pipe including PVC	02 nos.	42.15	84.30
	waste fittings 32 mm dia as per specification			
4	Providing & fixing 100 mm sci iron grating of	04 nos.	16.45	65.80
	gulli trap as per specification			
5	Providing & fixing soil waste & vent pipe 75 mm	18 mtr	395.45	7118.10
	dia sci as per specification			
6	Providing & fixing the joints with spun yarn	08 nos.	25.30	202.40
	cement slurry & cement mortar 1:2 in sci / ci pipe			
	75 mm dia			
7	Providing & fixing of bend of required degree	08 nos.	210.00	1680.00
	with recess door complete 75 mm dia sci as per			
	specification			
8	Providing & fixing trap 100 mm inlet & 75 mm	04 nos.	573.35	2293.40
	outlet of sci as per specification			
9	Providing & fixing GI pipe complete with GI			
	fittings including cutting & making good the wall			
	as per specification	15.05	144.55	2204.22
	a. 25 mm NB	15.25 mtr	144.55	2204.38
	b. 20 mm NB	15.25 mtr	107.70	1642.42
10	c. 15 mm NB	7.00 mtr	92.60	648.20
10	Providing & fixing connection pipe as per	03 nos.	43.25	129.75
11	specification Providing & fiving CD bross hib sock of approved.	02 500	212 10	626.20
11	Providing & fixing CP brass bib cock of approved	02 nos.	313.10	626.20
12	quality as per specification Providing & fiving CP brees angle step each of	04 pag	217.65	1200 60
12	Providing & fixing CP brass angle stop cock of	04 nos.	347.65	1390.60
13	approved quality as per specification Providing & jointing SW pipe 100 mm dia as per	06 mtr	105.90	335.40
13	Providing & jointing SW pipe 100 mm dia as per specification	OO IIIU	105.90	333.40
14	Making stone floring with 18 mm thick marble	19.03 m ²	892.15	16977.61
14	stone over 20 mm (average) thick base of cement	17.03 111	072.13	107//.01
	mortar 1:4 complete as per specification			
15	Providing & fixing 1 st quality ceramic glazed wall	17.72 m ²	556.60	9851.82
13	tiles of approved make in all colours except	17.72 111	220.00	7031.02
	burgundy's, bottle green, black of any size of			
	approved by the Engineer I/c in shirting over 12			
	mm thick bed of cement mortar 1:3 as per			
	specification			
L	ороситочной		l l	

16	Supply & applying one or more coat of oil bound	45.50 m^2	14.90	677.95
	distemper as per specification			
17	Dismantling stone slab flooring as per	19.03 m^2	40.50	770.72
	specification			
18	Dismantling CI pipe including excavation &	18 mtr	63.45	1142.10
	refilling up to 150 mm dia as per specification			
19	Dismantling of flushing system as per	01 no	143.35	143.35
	specification			
	TOTAL			52992.55

Synopsis:

I	/	We	gone	through	the	bill	of	quantity.	I	/	We	quote		%	
(_) above	/ b	elo	w the	estimate	ed cost an	nounting	
to	R	s										(Rupees			
).	

Signature of Contractor

Name of Contractor

Seal & Date